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For f{x) = —5x + 4, what is the value of x for which f{x) =297 Use the graph of the function f(x) = 2x + 2 to find the value of y whenx = 2. o
: .\ ]
= c
a. x=1 . g
b, x=-5 ; m
c. x=-4 .m
d x=35
E
2
a. -2 c. 6
b. 7 d 0
cte_functions_01_notes.gwb - 3/8 - Wed Jun 08 2016 18:07:29 cte_functions_01_notes.gwb - 4/8 - Wed Jun 08 2016 18:07:34
ered by powered by
mxw:..sm._m\w mxw:..sm._m\w
The function = 40t dascribes hovw & from horme She Lingis 2s she drives from Dalas toMiami
Graph the funetion Uss the graph to estimate how far Fom home Shy For f{x) =—5x — 2, evaluate f{5).
a e 1 :
) a. =32 c. 23
@ b. =27 d. -15
R
Hours.
St Ling is sbont 480 mils Somhoms in 12 St Ling i abovt 40 mies Somhome in 12
haurs hours
b 4
50
gu
S
N,
W EXEE]
St Ling is aboot 32miles fom home in 12 St Ling i abovt 12 miles from home i 12
hours. haurs. -
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N " . : : : Orio and Ted buy an equal number of comic books every month. The following 5]
If fix) = 5x — 2, which of the following sets represents possible inputs and equation shows the number of comic baoks, f(x). that Oria has after x months- P
outputs of the function, represented as ordered pairs? oy =412 m
The following graph shows the number of comic books, fx), that Ted has after
a. {(=2,-12), (0,-3), (1, 3)} + monthe: S
[}
b {(-L.=7).(0.-2). (-2.-1D)} e £
c. {(2.8). (3. 13, (=5. -27)} “ =
1 1 3 +
After 3 months, how many more comic books does Orio have than Ted?
a 9 e 7
b 10 d 8
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‘Which section of the function is increasing?

G
H J
F K
a. From points G to H c. From points Jto K
b. From points F to G d. From points H to J

A watering can dispenses water at the rate of 0.75 of a gallon per minute. The
original volume of water in the can was 5 gallons. Which set of ordered pairs
shows the volume of water in the can in gallons f{x), as a function of time m
minutes (x), from the first minute after the can starts dispensing water?

a. {(1,4.25),(2.3.5). 3. 2.79)} e. {(1,5).(2.4.25),(3.3.5)}

b, {(4.25, 1), (3.5, 2). (2.75, 3)} d {(5.1),(4.25,2). (3.5. 3)}






